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1.1319 —0.0500 0.1845 ~0.1440 —3.2159 —0.7610 —1.02407]
—0.0500 1.4809 —0.0748 —0.1443 --5.0583  0.6191 0.9300
. ] 0.1845 —0.0748 1.0364  0.5028 —6.3158 ~—3.8223 —2.3463
\NVeyse =4 01440 —0.1443 05028  0.6871 —4.5322 —2.9593 —3.3195
—3.2159 —5.0583 —6.3158 —4.5322 111.6470 26.5507 28.0134
-—-0.7610 - 0.6191 —3.8223 —2.9593 26.5507 18.5859 14.0864
_—1.0240  0.9300 —2.3463 —3.3195 28.0134 14.0864 24.2645
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Bus ~280,507 3
Rz

D)= | 8, =% —2,215,440

Su ~6,642,930
811 8y Oy 1,566.8 18,375.6 20,1843
1
[dxx] = | 821 8m 85| = E 18,375.6 294,376.0 190,411.0
83 832 O3 20,1843 190,411.0 455,969.0
7
{X}=|R3
R;3
8% 0
D} =65 =0
8%s 0
' ~280,507 1,566.8 18,3756 20,184.3R} 0
1
% —2,215,440 +E 18,375.6 294,376.0 190,4110[[R5 | =10
—6,642,930 20,184.3 190,411.0 455,969.0JL.R3 0
Solving,

R3 469802 X 107 —2.17488 x 107* ~1,l7}44 x 107 —280,507
R [= —]-2.17488 x 10™* 147225 x 107°  3.47946 x 10™° | |—2,215,440 |
R3 ~1.17144 x 10™*  3.47946 x 107¢ 5492574 % 107¢ | |-6,642,930

R} 57.82 ft-k

R | =1~528%k

R3 1421k
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PROGRAM TO FIND THE STRUCTURAL STIFFNESS

SMOIN = 1.00000  YOUNG
MEMBER STIFFNESS MATRIX
40000 .20000
.20000 40000
06000 .06000
-.06000 -.06000
MEMBER STIFFNESS MATRIX
,40000 .20000
20000 40000
.06000 .06000
-.06000 -.06000
MEMBER STIFFNESS MATRIX
.40000 .20000
20000 40000
06000 .06000
~. 06000 ~.06000
MEMBER STIFFNESS MATRIX
40000 .20000
20000 40000
06000 L06000
-.06000 -.06000
MEMBER STIFFNESS MATRIX
40000 20000
.20000 40000
.06000 L06000
-.06000 ~.06000
MEMBER STIFFNESS MATRIX
40000 20000

.20000 40000 °
.06000 .06000
-.06000 -.06000

1.00000

. 06000
.06000
;01200
-.01200

.06000
.06000
.01200
-.01200

.06000
.06000
.01200
-.01200

.06000
.06000
.01200
~.01200

.06000
.06000
.01200
-.01200

.06000
.06000
.01200
-.01200

MATRIX OF PLANAR ORTHOGONAL STRUCTURES

A
ELENG =

-.06000
~-.06000
-.01200

.01200

-.06000
-.06000
-.01200

.01200

-.06000
-.06000
~-.01200

.01200

-.06000
-.06000
-.01200

.01200

-.06000
-.06000
~.01200

.01200

~.06000
~.06000
-.01200

.01200

CORRESPONDING DISPLACEMENT NUMBERS FOR ELEMENTS

1 14 5 11

10.00000
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CORRESPONDING DISPLACEMENT NUMBERS
1 2 10 9

CORRESPONDING DISPLACEMENT NUMBERS
2 15 5 12

CORRESPONDING DISPLACEMENT NUMBERS
2 3 9 8

CORRESPONDING DISPLACEMENT NUMBERS
3. 6 5 13

CORRESPONDING DISPLACEMENT NUMBERS
3 4 8 7

STRUCTURE STIFFNESS MATRIX

.800 .200 .000 .000
.200 1.200 .200 .000
7000 .200 1.200 .200
.000 .000 .200 .400
. 060 .060 .060 .000
.000 .000 .200 .200
.000 .000 -.060 -.060
.060

. 000

+.000

.000

.000

©..000

.000

.000

FOR

FOR

FOR

FOR

FOR

. 060
.060
. 060
.060
. 036
. 060
.000
.000
.000
.000
-.012

-.012-
-.012

.060
.060

ELEMENTS

ELEMENTS

ELEMENTS

ELEMENTS

ELEMENTS

.000
. 000
.200
. 000
.060
.400
.000
.000
.000
. 000
.000

.000
.000

.000..
'-.060

.000
.000
-.060
~.060
~.000
.000
.012
-.012
.000
000
.000
.000
“:15.000
1.000
.000

.000
-.060
.000
.060
.000
.000

.024
-.012
.000
.000
.000
.000
.00
.000

-.060
.000
.060
.000
.000
.000
. 000

-.012
.024

-.012
.000
.000
.000
.000
.000

.060
.060
.000
.000
.000
.000
.000
.000
-.012
.012
.000
.000
.000
.000
.000

-.060
.000
.000
.000

-.012
.000
.000
.000
.000
.000
.012
.000
.000

-.060
.000

.000
~-.060
.000
.000
-.012

.000
.000
.000
.000
.000
.012
.000
.000
-.060

.000
.000
.060
.000
.012
.060
.000
.000
.000
.000
.000
.000
.012
.000
.000

.200
.000
.000
.000
.060
.000
.000
.000
.000
.000
-.060
.000
.000
.400
.000

.000
.200
.000
.000
.060
.000
.000
.000
.000
.000
.000
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.000
.000
.400



THE TRUCTU?A/L S’%NE?‘/S M?TRJX

800 .2 000 .000 .060 .000 .000 .000 -.060

200 1200 .200 000 .060

.000 .000

000 .200 1.200 200 .060 .200 -.060

000 .000 .200 .400
.060 .060 .060 .000
000 .000 .200 .000
.000 .000 -.060 -.060
000 -.060 .000 .060
-060 .000 .060 .000
.060 .060 .000 .000
-060 000 .000 .000
000 -.060 .000 .000
.000 000 -.060 .00G
200 .000 .000 .000

.000 200 .000 .000
Stop - Program terminated.

Press any key to continue
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